

$$\begin{aligned}
 (1) \quad & x^2 - 6x + 8 = 0 \\
 & x^2 - 6x + 9 + 8 - 9 = 0 \\
 & (x-3)^2 - 1 = 0 \quad | +1 \\
 & (x-3)^2 = 1 \quad | \sqrt{\phantom{x}} \\
 & x-3 = \pm 1 \quad | +3 \\
 & x = \pm 1 + 3 \\
 & x_1 = 4 \\
 & x_2 = 2
 \end{aligned}$$

Jan 24-07:59

$$\begin{aligned}
 (2) \quad & x^2 - 7x + 12 = 0 \\
 & (7:2)^2 = 3,5^2 = 12,25 \\
 & x^2 - 7x + 12,25 + 12 - 12,25 = 0 \\
 & (x-3,5)^2 - 0,25 = 0 \quad | +0,25 \\
 & (x-3,5)^2 = 0,25 \quad | \sqrt{\phantom{x}} \\
 & x-3,5 = \pm 0,5 \quad | +3,5 \\
 & x = \pm 0,5 + 3,5 \\
 & x_1 = 4 \\
 & x_2 = 3
 \end{aligned}$$

Jan 24-08:02

$$\begin{aligned}
 (3) \quad & x^2 - 12x + 35 = 0 \\
 & x^2 - 12x + 36 + 35 - 36 = 0 \\
 & (x-6)^2 - 1 = 0 \\
 & (x-6)^2 = 1 \\
 & x-6 = \pm 1 \\
 & x = \pm 1 + 6 \\
 & x_1 = 7 \\
 & x_2 = 5
 \end{aligned}$$

Jan 24-08:08

$$\begin{aligned}
 (4) \quad & x^2 - 2x - 3 = 0 \\
 & x^2 - 2x + 1 - 3 - 1 = 0 \\
 & (x-1)^2 - 4 = 0 \\
 & (x-1)^2 = 4 \\
 & x-1 = \pm 2 \\
 & x = \pm 2 + 1 \\
 & x_1 = 3 \\
 & x_2 = -1
 \end{aligned}$$

Jan 24-08:12

$$\begin{aligned}
 (5) \quad & 5x^2 + 0,5x + 15 = 0 \\
 (6) \quad & 5x^2 - 36x + 7 = 0 \\
 (7) \quad & x^2 + 1,7x + 0,6 = 0
 \end{aligned}
 \left. \vphantom{\begin{aligned} (5) \\ (6) \\ (7) \end{aligned}} \right\} \text{HA}$$

Jan 24-08:16

$$\begin{aligned}
 (5) \quad & 5x^2 + 0,5x + 15 = 0 \quad | :5 \\
 & x^2 + 0,1x + 3 = 0 \\
 & (0,1:2)^2 = 0,0025 \\
 & x^2 + 0,1x + 0,0025 + 3 - 0,0025 = 0 \\
 & (x+0,05)^2 + 2,9975 = 0 \\
 & (x+0,05)^2 = -2,9975 \quad | \sqrt{\phantom{x}} \\
 & \text{geht nicht}
 \end{aligned}$$

Jan 24-08:27